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1. Choose the correct answer. (5 marks)
1. Which of the following is a multiple of 5?

A. 12 B. 56 C. 45 D. 89
2. The missing factorin the box equals —— A
A. 6,000 B. 600
C. 60 D. 6
3.45is  timesthe number9. 10 ]
A. 40 B.5 C.6 D. 9
4. A square its side length is S. What is its perimeter ?
A .S+5S B. SxS C.Sx4 D.S+S5+S
5.In the opposite figure : fm,
Thevalue ofy is ~ e
A. 4cm B.5cm perimeter y
C. 6cm D. 7cm - 2dem
2. Complete. (5 marks)

1. The multiplication equationof 8 +8+8+8+ 8 =40is
2.2x[3x4]=[2x — x4
3.IfAx7=35,thenA=— ——

4 istheonly even prime number.

5.10is . timesthe number 2.

3. a. Sandy purchased 3 kg »400 g of sugar and 5 kg » 217 g of rice. What is the total mass
which Sandy carried ? (2 marks)

b. Find the G.C.F of 40 and 50. (3 marks)
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1. Choose the correct answer. (5 marks)
1. The common factor of all numbers is
A0 B.1 C.2 D.3
2.1fax33=33x7,thena=——
A. 33 B. 40 C7 D. 31
3.Thelengthofarectangle=
A. Area + length B. Area + width
C. Length x width D. Area x width
4.1fants walk about 3,000 meters each daysthentheantswalk — km
A 3 B. 150 C. 15,000 D. 15
5. Which of the following is not a prime number ?
A 2 B.7 C.9 D. N
2. Complete. (5 marks)
1.1f the area of the opposite figure equals 25 cm? X
sthenthevalueofxis - cm
2.160 = -~ tens )
3.All the factors of 10 are
4.500x3=
5.The perimeterof therectangle= — +

3. a. Amalis putting a border around the edge of a square cake. One side of the cake is 30 cm
long. How long will the border of Amal's cake be ? (2 marks)

b. List the common factors and the greatest common factor (G.C.F) of 18 and 6 (3 marks)
Factorsof18: S —
Factorsof6: - e _ S
Commonfactors: R
GCF: — : e
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1. Choose the correct answer. (5 marks)
1. All the following numbers are composite except
A. 66 B. 67 C. 68 D. 69
2.What number is 10 times the number17?
A. 27 B. 1,700 C.7 D. 170

3.The length of arectangleis b »the widthis c
What isitsarea?

A.b+c B.bxc
C.[2xb]+[2xc] D. [2xb]x[2xc]
4.1f Marvina studied from 4:10 P.M. to 5:00 P.M. , then she studied ~_minutes.
A. 60 B. 110 C. 40 D. 50
5.[200x3]x0=—
A. 600 B. 6,000 C. zero D. 203
2. Complete. (5 marks)
1Ifax7=7x8,thena=— -
2.19000=———x19
;W —is5times the number3
4.18has —factors.
5.The perimeter of a square of side length10 mis . m
3. a. Apply the properties of multiplicationto find:2x3 x5 (2 marks)
b. Calculate the area and the perimeter of the following complex shape. (3 marks)
7m
im
3m
3m
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First Choose the correct answer:

The perimeter of the rectangle = ... ..
P=LXW@P=L+(WX2)DP=(L+W)X(L+W)DP=(L+W)X2)
If a square has a side length of 6 cm, then its perimeteriis ... cm.

(24 @ 36 D 18 @ 22)

The area of the square = ... i
A=SX4@A=SX2DA=S-SDA=SXYS)
If a rectangle has a length of 8 cm and a width of 4 cm, then its surface
Ar€A IS cm?.
(32@ 12 @ 24 @ 84)
An aquarium contains 5 red fish and 3 times as many blue fish. How

many blue fish are there in the tank?

(5@ 15D 8D 2)
7X(3X5)= (i X3)X5
QID7D5D 3)
The smallest even prime numberis ... .
0D1D2D3)
Second Complete the following:
A rectangle of 15m length and 10m width, its perimeteris ... m
A square with a side length of 6 cm,itsareais ... cm?
XX5=35 ,X=
D W X2=2X6
N\
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Third Essay questions:

Calculate the perimeter and area of the following figure:

4 cm 8cm

In a restaurant, a piece of glass is cut to cover the top of a dining table.
The table is 8 meters by 6 meters. What is the‘area of the piece of glass

needed for this table?

Find the greatest common factor of each of the following numbers:

10 and 15

= FACtOrS OF L0 @T@ oo )
— FaCtors Of L5 Ar@: oo e e )
— The COMMON fACEOIS AT . oo e .

= T GO 1Sy e oo oo oo )

Match:

A multiple of 5 iS .. . 1 B
Afactor of 16 iS ..o : 40 A

The common/factor of all numbers is ... . s B

vy
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First Choose the correct answer:
The number that has only two factors is calleda/an ... number.
(composite @ prime @ even @ odd)

...................................... is @ common multiple of 4 and 6.

(12D 16 @ 18 @ 30)
All the following numbers are multiples of 3,except ... :
(17D 24 D 18D 9)

A rectangle has a length of 7 cm and a width of 5 cm. Its perimeter is

...................................... cm.
(97 @ 13 @ 35 @ 24)
A square with sides of 7 mm, has a surface area of ... mm?
(14 @ 49 @ 28 @ 36)
540=5 (i Property)

(Distributive @ Associative @ Commutative @ Additive Identity Element)

6 X300=18X i
(9@ 10 @ 100 @ 1,000)
Second Complete the following:
(25X )X16= X (18 x 16)
The greatest common factor of 7and 5iS ... .
A square has an area of 25 cm? the length of its sideis ... cm

A rectangle has an area of 32 cm? and a width of 4 cm. Its perimeter is

@ PONY - Math Prim. 4 - First Term




Nov.Model Exams &

Third Essay questions:

Calculate the perimeter and area of each of the following shapes:

a) ®

20 mm 8 cm

20 mm 4 cm

Rashad’s team scored 9 goals in football. This is 3 times greater than
the number of goals scored by Yassin’s team. How many goals did

Yassin’s team score?
o [T 1o o T

A WK - e e oo s s )

Use the Associative Property of Multiplication to calculate the number

of pens in the picture.

EE EE EE
EE EE EE
EEEE EE

Y

2

The factors of 12 ar€: .

)

PONY - Math Prim. 4 - First Term 0/5\0 /
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First Choose the correct answer:
Which of the following represents the Associative Property?
((2X3)X5=2X(3X5)D4X1=4D3+6=6+3D5X0=0)
The smallest prime nUMDbEr iS .. : 1D2D3D4)
If 7X3=21,then 3and 7 are factors of ... .
(7@21D3D 37)

A square with a side length of 8 cm,itsarea is ... cm?.

(88 @ 32 @ 64 D 16)
A rectangle has an area of 30 cm? and a width of 5 cm. Its length is
...................................... cm. (35@ 6 D9 D 25)
The equation that shows “48 is six times greater than m” is
...................................... . B+m=48D8Xm=48D48Xm=6@D 6 Xm=48)
The whole number one is neither a prime nor a composite number
because it has ... .

(no factors @ two factors only @ one factor only @ more than two factors)

Second Complete the following:
A square has a perimeter of 16 cm, the length of its side is ... cm.
A rectangle has an area of 45 cm? and a width of 5 cm, then its
perimeteris ... cm.
Ifa=6X9,thena= ... )
30X1,000 = .

—

PONY - Math Prim. 4 - First Term
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Third Essay questions: |
= FACLOrS OF L6 @I€: .o .
— FACLOrS OFf 20 @I€: ..o .
— The coOmMMON fACLOrS Qre: ... st e .
= TNE GOF 1S e .
Write 5 multiples of 9: (oo oo N . I )

Sameh’s book is 30 cm long. The cover of Sameh’s book has a perimeter
of 100 cm. What is Sameh’s book width?

vy
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First Choose the correct answer:

All prime numbers are odd numbers, except ... is an even
number. 1D2D3DO0)
The greatest common factor of 21 and 35 1S ... .
5D7D8D3)
...................................... is an odd number that is a multiple of 3 and 5,and it
lies between 10 and 30. (8@ 15 @ 20 @ 25)

The perimeter of the rectangle = ... .
P=LXW@DP=LXWXLXW@P=L+W+L+W@P=LXWX2)

The total area of the opposite figure is _4am_,

40 cm? . The area of the rectangle

4 cm

(1) (2)

(56 @ 24 @ 16 @ 40)
The area of a rectangle with dimensions 7 cm and 2 cm is
...................................... cm?. (27 D 18 D9 @D 14)

(7@ 30 @ 500 @ 21)

Second Complete the following:
The number of factors of 251is ...
A square whose perimeter is 20 cm, its side length= . ... ... cm

A rectangle has an area of 36 cm? and a width of 4 cm. Its perimeter is

45 is 9 times greater than what number?

QU ON & e :
()

PONY - Math Prim. 4 - First Term
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Third Essay questions:

complete
4X5X3= (o X e ) X o
S e ) G
complete
F o =8 x3,then ... is a multiple of the two

numbers 8 and 3.

AlSO, ..o and ..o are factors of the number ... )

In the following figure, there are two conjoined rectangles.

The sum of their areas:

3cm 7 cm

Mona’s book is 25 cm long. The cover of the book has an area of 250 cm?.
What is the book width?

vy
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First Choose the correct answer:

...................................... is a prime number.,

(64 D 15D 17 @ 21)
...................................... is @ number that is a multiple of 2, 3,and 4, and lies
between 20 and 30.

(24 @ 26 @ 28 @ 45)

A rectangle has a length of 6 cm and a width of 8 cm, so its perimeter

(86 @ 28 @ 14 @ 48)
Sameh is three times the age of his brother. His brother is 4 years old.

Which of the following equations is used to know the age of Sameh?

@=4+3Da=3+4Da=4-3Da=3X4)
A number whose factors are (1,2 ,4,5,10,20)is ... .

(20 @ 10 @ 100 @ 200)

...................................... is @ multiple of all numbers.

0D1@ 2@ 3)
27 is a common multiple for9and ... .

2Q95D3D7)

Second Complete the following:

160S times greater than 2.
...................................... X 10 =400
5,000 = Hundreds

N

{10/

The smallest odd prime numberis ... .

—

PONY - Math Prim. 4 - First Term
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Third Essay questions:
Combine the following two geometric shapes to form one odd shape.

Calculate the area and perimeter of this shape. Draw your geometric
figure and write the measurements on the sides.

8 cm 6 cm

3cm

6 cm

R /
A square has sides of 3 cm. Write an equation showing the perimeter of

the square (P).

A farm with 15 ducks and 25 chickens. Divide these birds into groups
equal in number. How many groups are there? How many ducks and

chickens are in each group?

Find the multiples of each of 4 and 5, up to 40. Then find the common

multiples between them: ‘

—The MUltiples Of 4 are: .. e .

— The MUltiples Of 5 are: .. e e .

- The common multiples of the two numbersare ... .
vy
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First Choose the correct answer:

A square has a side length of 10 cm, its perimeteris ... cm.
(40 @ 100 @ 20 @ 65)
If a rectangle has a perimeter of 60 cm and a length of 20 cm, then its
WIdth is s cm.
(3@ 10 @ 40 @ 50)
If6 Xy=24,theny= . .
(8@ 18D 30D 4)
...................................... is 5 times greater than 7.
(14 @ 35 @ 21 @ 28)
30X40 =12 X
(34 @ 10 @ 100 @ 1,000)
The smallest odd number is ... :

19233 5)

6 is a composite number because ithas ... :

(one factor only @ two factors only @ more than two factors @ no factors)

Second Complete the following:

N

{12/

The number of factors of 9 is ..o factors.
12 haS i factors whichare ... )
A square with side length of 20 mm,its area is ... mm?,

A rectangle has a perimeter of 28 cm and a length of 8 cm, then its

—

PONY - Math Prim. 4 - First Term
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Third Essay questions:
An even number is a multiple of 3,5,10 and lies between 20 and 40.

The number is ... )

A rectangular mirror with an area of 1200 square centimeters. The

mirror is 40 cm long. What's its width?

Calculate the perimeter and area of

the corresponding figure: 12 cm
W
(@)
3
£
(9}
~ 9cm
4 cm
3cm
Hazem has five times the money that Karim has. If Hazem has 45
pounds, what is the amount of money that Karim has?
vy

)
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First Choose the correct answer:

...................................... is @ common multiple of 8 and 3.
(15 @ 32 D 24 @ 27)

The perimeter of the rectangle = ...

(P=(LX2)+(WX2)DP=(L+2)X(W+2)DP=(LXW)X2@P=L+W)

A rectangle has a length of 7.cm and a width of 2 cm. Its perimeter is
(14D 16 @ 18 @ 28)
A square has a perimeter of 20 cm, the length of its side is ... cm.
5@4D10D7)
Sarah and her sister peeled some oranges. Sarah peeled 6 oranges.
Sarah’s sister peeled 3 times as many oranges as Sarah. Which of the
following equations can be solved to find the number of oranges that
Sarah’s sister peeled? ... .
NX3=6@n=3X6@n=6+3Dn=6+3)

2 X =18 X 100
(18 @ 9 @ 90 @ 900)
The Multiplicative |dentity Element is ... :
(192900 3)
Second Complete the following:
If the area of a square is 49 m?,then its perimeter is ... cm
48 is 6 timesas Many as ... Equation: ...

N

{14/

120 X e =120,000

An even prime number is ... .

—

PONY - Math Prim. 4 - First Term
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Essay questions:

Third

Saleh has 15 apples, and his sister Hala has 5 apples. How many more

times does Saleh have the same number of apples as Hala?

EqQuation: . e

7N Y=L Y oo

Complete using (<,=or >):

8 X 21 8X7X2 18 X5
5X12 (5X2)X4 20X 90
If 14 X 5=70,then ... X oo =70
Write 10 common multiples of 2,5 and 10: ...

Nov.Model Exams o

6 X3X5

6 X 300

. (Commutative Property)

........................ 9 ererereeeeieiiii

.
e Torm 15

PONY - Math Prim. 4 - First Term O 15
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First Choose the correct answer:

The prime number has ... only.
(one factor @ two factors @ three factors @ five factors)

The numbers (1,7,14,2) are factors of ... .

(14D7D5D 24
...................................... is a common multiple of 4 and 6.
(12D 16 @ 18 @ 30)
50 X oo = 20,000
(4 @ 40 @ 400 @ 4,000)
All the following numbers are multiples of 3,except ... :
(17D 24D 18 D 9)

A rectangle has a length of 6 cm and a width of 3 cm. Its perimeter is

(36 cm? @18 cm @ 18 cm? @ 9 cm?)

A square has an area of 36 cm? the length of its sideis ... cm.

Second Complete the following:

...................................... is @ multiple of 9,and lies between 30 and 40.

A rectangle has a length of 5 cm and a width of 3 cm, its perimeter is

o X3)X10=7X(3X )
PONY - Math Prim. 4 - First Term
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Third Essay questions:

Find the greatest common factor of each of the following numbers:

10,15
FACLOrS OF L0 @I€ ..ot .
FACLOrsS OF 15 @I@I oo e .
The commOon Factors are: ... et e .
TRE GOF FS: oo oo e .
Write two common multiples of 4 and 9: (..o - —— )

An odd number is a multiple of 5 and 9,and it lies between 30 and 50.

The numberis ... .

In the following figure, there are two conjoined rectangles.

The sum of their areas:

.......................................................................................................... 3cm 7cm
e
.......................................................................................................... £
N
y
. _

PONY - Math Prim. 4 - First Term \17/
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First Choose the correct answer:

A square has a perimeter of 12 cm,thenitsareais ... cm?.
1 D3DI9 D 24)
The equation “m = 4 X 2” represents a number equal to ...
(4 times more than 2 @ 4 times more than 4 @ 2 times more than 2
@ 8 times more than 4)
...................................... X 200=10X100
(100 @ 5 @ 50 @ 10)
[f45=9Xa,thena= ...

(54 @ 45 D9 D 5)
The number of factors of 14iS ... factors.
B3D2D4 Do)
...................................... is a multiple of 8.
2QD16D12D9)
The common multiple of all numbersis ... .
(1D9@4DO0)

Second Complete the following:

A rectangle has an area of 45 cm? and a width of 5 cm, so its length

If 30 is a multiple of 5 and 6,then ... X oo = e
The prime numbers between 40 and 50 are ...

...................................... Hundreds = 400 X 50

—

PONY - Math Prim. 4 - First Term
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Third Essay questions:
A city is in the shape of a rectangle. It is 4 kilometers wide and 8

kilometers long. What is the area of this city?

Calculate the perimeter and area of the 8 cm
corresponding figure:
5
£ :
: ......... cm
3
14 cm
What number is 5 times greater than 9?
EQUAION: e ot
ANSWEE ... ettt s s 5505 s s 5555000
Complete using (<,=or >):
6X1 5X1 9X0 8 X0
3X1 0X7 40 X 2 4X20
vy
PONY ~ Math Prim. 4 - First Term {19
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First Choose the correct answer:

Area of the rectangle ...l y

A= (L+W)X2DA=L+WDA=L-WDA=LXW)

A square has an area of 25 cm?,its perimeteris ... cm.
(5@ 20 100 @ 32)
If 3x =9, then X = i )
B3D27D12De6)
[f6xm=18,then 18 iS .., times as many as m.
B3D6D2D18)
The age of Kenzy is 3 times as the age of Retage. If Retage is 6 years
old, then the equation ... represents the age of Kenzy.
3+3+3@bXb=3D3X6=bD3Xb=6)
(8X2)X10= X 10
20D 8D 2 D 16)

5 is a prime number because ithas ...

(no factors @ two factors only @ one factor only @ more than two factors)

Second Complete the following:

N

2

A square has a perimeter of 40 cm,thenitsareais ... cm? .
A rectangle has an area of 30 cm? and a length of 10 cm. Then its
perimeteris ... cm.

35 is 5times morethan ... CEquation: o

The greatest common factorof9and 6is ... .

—

PONY - Math Prim. 4 - First Term
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Third Essay questions:
The bookcase in a library contains 6 shelves, each shelf has 20 books.

How many books are there in the bookcase?

Use the Associative Property of Multiplication to calculate the number

of books in the opposite picture.

Find the multiples of each of 2 and 5, up to 20. Then find the common

multiples between them:
— The MULLIPLES OF 2 @r@: .o

— The MULLiples Of 5 I e

- The common multiples of the two numbers are: ...

Draw two rectangles, each with an area of 18 cm? then find the

perimeter of each of them:

Perimeter= . . Perimeter= . . o

PONY - Math Prim. 4 - First Term 0/2-1\0
_— \_



Guide Answers

Model 1
First:
P=(L+W)X2 24
A=SXS 32
15 7
2
Second:
50 36
7 6
Third:

Area = (4 X 4) + (8 X 4) = 48 cm?
Perimeter=8+4+4+4+8=4=32cm
Area of glass =8 X 6 = 48 m?
- Factors of 10 are: 1, 2,5,10
- Factors of 15 are: 1, 3,5,15
- The common factors are: 1,5

- The GCF is: 5
40 8
11
Model 2
First:
prime 12
17 24
49
Additive Identity Element
100
Second:
(25 X18) X 16 =25 X (18 X 16)
1 5
24
Third:

P=20X4=80 mm
A=20X20 =400 mm?
P=(8+4)X2=24cm
A=8X4=32cm?
/2\

\_2/ PONY - Math Prim. 4 - First Term

Equation: 9=3 x
Answer: x = 3
The number of pens =3 X 3 X 4

=(3X3)X4
=9 X 4 =36 pens
1,2,3,4,6,12 12
1112
2
3
Model 3
First:
2X3)X5=2X(3X5) 2
21 64
6 6 Xm=48
one factor only
Second:
4 28
54 30,000
Third:
- Factors of 16 are: 1,2,4,8,16
- Factors of 20 are: 1, 2,4, 5,10, 20
- The common factors are: 1, 2,4
- The GCF is: 4
9,18,27,36,45
Width = (100 + 2) - 30
=50-30=20cm
The price =7 X 3 =21 pounds
Model 4
First:
2 7
15 P=L+W+L+W
24 14
7
Second:
3 5
26 45=9x



Guide Answers

Third: Model 6
4X5X3=(4X5X3
-20X3=60 First:
24 24 ,8 ;3,24 40 10
A=(3X3)+(7X3) 4 35
=9+21=30cm? 100 1
Width =250 + 25 =10 cm more than two factors
Model 5 Second:
3 6 , 1,2,3,4,6,12
First: 400 48
17 24
28 a=3X4 Third:
20 0 30
3 Width = 1,200 = 40 = 30 cm
P=12+3+9+4+3+7
Second: - 38 cm
8 40 A=(12X3)+(4X3)
50 2 =36+12=48 cm?
. 45=5x
Thll’d: Karim has (x) =45 + 5 =9 pounds
8 cm 6 cm Model 7
: .
Y— . First:
- 24 P=(LX2)+WX2)
6 cm 18 5
Area = (8 X 3) + (6 X 6) . 900
=24+ 36 = 60 cm’ 1
Perimeter=8+6+6+6+3+8+3
40 Second:
P=3X4=12cm 28 8 , 48=6X8
Number of groups (GCF) = 5 groups. 1,000 2
(3 ducks + 5 chickens) Thll’d
- The multiples of 4 are: 0,4, 8,12,16, 20, 24, .
28.32. 36,40 Equation: 15=5x
Answer:x=15+5=3
- The multiples of 5 are: 0, 5,10, 15, 20, 25, 30, S _
35,40 N _
- The common multiples of the two numbers 5 X 14
are:0,20,40 10,20, 30, 40, 50, 60, 70, 80, 90, 100

PONY - Math Prim. 4 - First Term @
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Model 8 Model 10
First: First:
two factors 14 A=LXW 20
12 400 3 6
17 18 cm 3X6=b 16
6 two factors only
Se;ond. y Second:
100 26
P=20X4=80cm 7 , 10 7 35=5x7 3
Third: :
- Factors of 10 are: 1, 2,5, 10 Thlrd.

_ Factors of 15 are: 1,3, 5,15 The number of books = 6 X 20 = 120 books

- The common factors are: 1,5 ey Of books =2X 4 X4

~The GCF is: 5 =@X4 x4
36,72 45 =8 X4 =132 books
Area = (3 X 3)+ (7 X 3) - The multiples of 2 are: 0, 2,4,6,8,10,12, 14,
=9+21=30cm 16,18,20
- The multiples of 5 are: 0, 5,10, 15, 20
Model 9 - The common multiples of the two numbers
< are: 0,10, 20
First:
9 4 times more than 2 ¢
5 5 = 9cm e cm
4 16 N ' L]
0 P=(9+2)X2 P=(6+3)X2
=22cm =18cm
Second:
9 5X6=30
41,43,47 200
Third:

A=8X4=32km?
P=15+8+10+6+5 + 14
=58 cm
A=(10X8) + (14 X 5)
=80+ 70=150cm?
Equation:x=5X9
Answer: x =45
>
>

N
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(1) Choose the correct answer:

1) 8,000=........ tens
a. 800 b. 80,000 c. 80 d.8
2) A rectangle its length is L and its width is w what is its perimeter?
a.L+w b.2x(L+w) c.Lxw d.(2xL)+w
3) 45is ........ times the number 5
a.9 b.6 c.5 d. 40

4) The common multiple of all numbersiis ........
a. o0 b.1 c.2 d.3

5 Ifax4=4x2 thena=.......
a.8 b.4 c.2 d.6

(2) Complete:

1) The only even prime number ..........
2) A garden in the shape of a square whose side length is 9 meters , then

itsarea=.......... square meters
3) 200x3=..........
4) The numbers 1, 3, 9, 27 are factors of ..........
5) 19 x ...... =19

(3) Answer the following:
1) Find the G.C.F of 25 and 35

2) A rectangular gymnasium is 7 meters long and 4 meters wide.
Find its perimeter

Elias | November revision ®
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(1) Choose the correct answer:

1) 6+6+6+6=6x ...
a. 24 b. 4 c.5 d.6

2) 28x15=15x 28 represents ............... property
a. Associative b. Commutative c.ldentity multiplicative d. distributive

3) The common factor of all numbers is .......

a.3 b.2 c.1 d.o
4) A square whose side length is 5 cm , then its perimeteris ....... cm
a. 20 b.25 c. 15 d. 35

5) Which of the following is a multiple of 8?
a. l b.2 c.4 d. 16

(2) Complete:

1) The multiplicative identity elementis .........

2) FAx6=18,thenA=....... ..

3) The G.C.Fof8and16is ..........

4) The area of a rectangle is 24 cm?® and its width is 4 cm , then its length is
.......... cm

5) 3x(5%x4)=(3x%x.....)x4

(3) Answer the following:

1) Write all factors of the number 24, then decide if the number is a prime or
composite.

2) A rectangular gymnasium is 7 meters long and 4 meters wide.
Find its perimeter

N € EuAsIN MATH
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Test (1)

Complete the following:

@ The perimeter of the square whose side length is 6 cm = ... cm.

@ The length of the rectangle whose area is 54 square centimeters and whose
width is 6 centimeters = ............. cm.

@ The number ... equals 10 times the number 8

OIf3xy=24,theny= oo

Choose the correct answer:

@ 6 times the number 4 equals ... .

a 14 b 24 c 20 d 10
@ Which of the following is a prime number?

a 14 b 15 c 17 d 21
@ The factors 1, 2, 3, 6 are of the number ... .

a 12 b 18 c b6 d 24

O A rectangle has a perimeter of 20 cm and a length of 7 cm, so its area

= e square centimeters.
a 140 b 21 c 91 d 60

Match the equal products:

100-(4x1) 9+9+9+9 6 tens
100 -(8x8) 5x%x12 8x12
72 -(3x4) (6x10)+(4x9) 3x12

Compare by using (<), (>) or (=):

@ The perimeter of a square The perimeter of a rectangle whose
with a side length of 8 cm. length is 9 cm and width is 7 cm.
@ The area of a square whose The area of a rectangle whose width
perimeter is 28 cm. is 5 cm and whose length is twice as
its width.

2 o bl - Maths w
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9
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The number of students in a class is between 30 and 40. This number is
a multiple of 2 and a multiple of 3 at the same time. How many students

are in this class?

12938t glial Lle olidl daslya

Test (2)
First: Complete the following and mention the property used:
& (7 %X )Xx5=7%X( x5)=70 (T property )
b 136 + 164 =164 + ... = QT property )

Second: Find the value of the unknown in each of the following
equations if:

aYx5=35 | b 4 xK=32 | ¢ Rx 18 = 1,800
Y=o | K= o | R =

Choose the correct answer:
@ All the following are prime numbers except:

a2 b 3 c 15 d 17

3
‘g.
3
9,
3
3
-y
i

@ The numbers of factors of the digit 8 equals:

a2 b 3 c 4 d 6
@1f. (7 x 400) + (7 x 50) + (7 x 3) = k x (400 + 50 + 3), then k = oo )
ab b 6 c 7/ d 8

Put a (V') for the correct statement and a (X) for the incorrect statement:

€ The multiplication equation that expresses 9 + 9 + 9 + 9 is 9 x 9 C )

@ Multiplication is a commutative process. C )
@ All the numbers 1,2, 3,7, 11 are prime numbers. C )
Fourh Primary - First Term 3
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Compare by using (<), (>) or (=):
a 5x60 3 x 1,000 b 120 x 4 96 x 5
¢ 7 x500 6 x 650 d 100 x 7 340 x 2

A square plot of land whose area is equal to a rectangular plot of land
whose dimensions are 100 meters and 36 meters. What is the perimeter

of the square plot of land?

12938t glial Lle olidl daslya

Test (3)

Find the perimeter and the area of each of the following figures:

12 ecm 9 cm
1 c 1
J £ : o : L 36 l
2 ; ™ ; S
© 3 ! square cm i

Perimeter = ... = .. cm | Perimeter = ... = .. cm  iS=... cm, perimeter = ... cm

Area = ... = .. square cm | Area = ....... = square cm | Ared = ............. square cm

Choose the correct answer:

3
zg.
3
9
3
3
-y
1

@ The number .............. is a multiple of the number 6.

a 16 b 26 c 36 d 63
@ The smallest prime number is ... .

ao b 1 c 2 d 3
[ 3 J— + 246 = 315 + 246

a 513 b 135 ¢ 351 d 315

Compare by using (<), () or (=):
a 6 x 300 9 x 200 b 24 x 100 3 x 800
¢ 42 x 100 7 x 80 d 93 x 100 693 x 10

;
E’
.
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Complete the following:

@ The Greatest Common Factor of 30, 50 i$ .o :

gAng number can be a multiple of 5 if its ones digit is ............. (o] G )
@24tens = o

4 S x7=7+7+7+7+7

Amal bought a box of biscuits of 3 layers. Each layer has 4 rows and 3

columns. How many biscuits are in the box?

3
zg.
.§
9
3
3
q\g‘.
1

Fourh Primary - First Term o 5

3
Test (4) zg
Complete the following: g
€ (G.CF) of 45, 150S v : 9
@ The factors of the number 24 are ... ) _‘.!)
@ 5 times the number 15 equals .. . §
Put a (V') for the correct statement and a (X) for the incorrect statement: B
@ All the prime numbers are odd numbers. C ) :a‘
@ When the order of factors in a multiplication process changes, the product i
of multiplication changes. «C )
@ The number 24 is a multiple of 6. C )
Choose the correct answer: —S‘
@ The perimeter of a square The perimeter of a rectangle whose ‘3
whose side length is 6 cm. width is 8 cm and length is 9 cm. g
a = b < c > &
@1f 8 x B =400, thenB = ... . %
a 392 b5 ¢ 50 d 500 —
@ The prime number whose sum of factors is 8 is ............. ) §
a 17 b 7 ¢ 35 d 15 '§
3
N—
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Find the lengths of the unknown sides then calculate the area:

T - « 2% >
perimeter ﬁ
S :
20 cm perimeter 36 cm 5§ : s P 22
o |
i 3 ¢ square cm
= cm L= ... cm 'S= ... cm
The area = ... square cm The area = ... square cm  The ared = .......... square cm

B
zg.
.,3
9
3
3
‘.\g\’
1

The football team surrounded a part of the pitch with ropes to play football.
If the area required for this part is 115 meters long and 65 meters wide,

what is the length of the rope needed to surround this part?

......................................................................................................................................................................................... 3
Test (5) 3
Complete the following: _‘3
a 8000 =8 % .............. =80 X oo, =800 X ... }
b 9x8x10=(9%x8)x ... = X e = )
¢ 300x4=bx.... o :%‘
Choose the correct answer:
@ 3 times the number ... equals 24
a 6 b 7 c 8 d 9

@ The opposite bar chart represents

a7+5 b7x%x5
¢ 53 d 30
@ The number of factors of 49 equals ... .
a2 b 3 c 4 d 57

;
E’
.
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A school trip of 42 boys and 30 girls. The trip supervisor divided the
students into groups of boys and groups of girls. What is the greatest
number of groups that can be formed so that each group will have the
same number of students?

- What is the number that will be in each group of boys?

- What is the number that will be in each group of girls?

12938t glial Lle olidl daslya

Find the perimeter and the area of each of the following figures:

T D «—bm
3 cm $ ?
i 7 cm Area = 18 square cm S

The perimeter = ......... cm The perimeter = ... cm The perimeter = ... cm
The area = ... square cm | The area = ... square €M The ared = ... square cm

If the speed of a passenger plane is 100 times the speed of a car, and if

the car is doing 75 kilometers an hour, what is the speed of the plane?

3
@.
.:9\
3
3
-y
i
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Answers
Test 1
1 @24 09 ©80 038
200 O c (3 ) Db
3100-(4x1)=(6x10)+(4%x9)=8x12
100-(8%x8)=9+9+9+9=3x12
72-(3x4)=5x12=06tens

JY]

da>

12938t glial Lle ol

4 @- A<
5 36
Test 2
1 First: @ (7 x2Dx5=7x2x5=70 (associative property) —9‘
b 136 (commutative property) xg
Second: @ Y =7 b K=8 ¢ R =100 3
2 O (2 ) (3 X4 _9‘
30X ev ex %
4 a < b = ¢ < d > —
5 The perimeter of the square plot of land = (10 x 6) x 4 = 240 meters §

3

Test 3

1 The perimeter = 36 cm, The area = 72 square cm

D
.i

The perimeter = 12 ¢cm, The area = 9 square cm

S = 6 cm, The perimeter = 42 cm, The area = 90 square cm

2 O (2 X ed
3 a = b = Cc > d >
4010 ®0or5 © 240 05

8 o blill-Maths w
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Test 4 =
1@15 1,2 ,3,4,6,8, 12, 24 @75 .
20X X ev 2
30 o ob i!,
4 S=5cm, The area = 25 g
L =12 cm, The area = 72 square cm D
S =5 cm, The area = 150 square cm “\g‘
5 The length of the rope = 360 meters 1
Test 5

1 /@ 8 x 1,000 = 80 x 100 = 800 x 10
b (9x8)x10=72x10=720
¢ 4 x300= 1,200
2 O @b @b

3 The greatest number of groups is 6

)0

ds>

The number of boys in each group = 7
The number of girls in each group = 5

4 The perimeter = 12 cm, The area = 9 square cm

3
3
3
2

The perimeter = 64 cm, The area = 175 square cm

=Y

*

S =3 cm, The perimeter = 24 c¢m, The area = 27 square cm

-

5 The speed of the plane = 7,500 kilometers an hour.

)0

gbual Ule blid] das>

* *
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Exam (unit four)

Example (1) Choose the correct answer

‘ rea of a square = side length X.........uu.es

(1) A f _ = side | th | | .

(A) Perimeter (B) side length (C) Area (D) otherwise

(2) If a rectangle has a length of 5 cm and a width of 3 cm, then its
perimeter = ................ cm

(A) 16 (B) 15 (C) 18 (D) 8

4 (3) A square whose side length is 5 cm has a perimeter = .......... cm

(A) 150 (B) 20 (C) 25 (D) 30

(4) A square has an area of 25 cm?, and its side length = .......... cm

(A) 5 (B) 50 (C) 100 (D) 10

(5) A rectangle of length L and width W, then its perimeter = .... cm

(A) L+W (B) 2X(L+W) () Lx(2+W) (p) 2x(LxW)

(6) If a rectangle has a length of 20 cm and a width of 10 cm, then

W jts area = .ovveees €M? _ | | |

(A) 30 (B) 60 (€) 120 (o) 200

(7) A rectangular garden whose width is 5 meters and its length is 7

| ‘meters. What is the area of the garden? .... M* |

(A) 24 (B) 70 (C) 35 (D) 12

Example (2): - Complete

1

nn & W N

S

A square has an area of 49 cm2, then its perimeter is.
Side length of a square = ........u...

Perimeter of the square= ..........

Perimeter of the rectangle = .....cccciimiiiciinnmnnsnnnssnnnnnns

' A rectangle with a length of 5 dm and a width of 2 dm. find its Perimeter.

A square of side length 8 cm. find its circumference.
 Perimeter of the square = ......ccicismsinimsmsnsinsssissssansassnsans

side length of a square = perimeter + ....ccorrrinrnsrssnennnss

A square-shaped table, the side length of which is 4 m. Maryam wants to

cover it with a tablecloth, so the area of the tablecloth = .........cccievverinnnnns .

| square metres

A rectangle with dimensions M cm and N cm, its area can be calculated

| from the relationship @ ....iiiiiisiinsiinnssannissvanssnnsss

A square has a perimeter of 36 cm, then its side length

= sassssssasrsssssEssEssEEEEssEEEEsGEEEEEEEs cm

_ Mr.Farid Mousa Ll s ] 01032243340




Example (3) Choose the correct answer

(1)

(A)

(2)
(A)

(3)

(A)
(4)

(A)

(5)

(A)

(6)

o |

(7)

(A)

6 cm
WHGR= <o
. 2 (B) 3 (C) a (D) 5 ‘
Therelation X + X + Y + Y = P eXpresses .ccccecenrennnss
” Area of a “ Perimeter of Area of a Per'i'meter
rectangle with a rectangle square of of a
dimensions X (B) with (C) side X (D) square of
and Y dimensions i
X, Y side X
rectangle area _ j
| L+ W (B) LxW  (© Lx(24+W) (a) 2X(LxW)
A Milliard is the smallest number made up of ........ oYY digits
3 (B) 6 (C) 10 (D) 7
A rectangle has a perimeter of 50 dm, find its width if its length
is 20 dm. w w |
15 (B) 5 | (@ | 10 (D) 20 '
Shape area = ...civirirssnnsnnnns
acm
8¢ | @@= sl 43290909092 Siisiiimsssaiimeseiecss e oot
7cm
40 (B) 68 (C) 88 (D) 56

A rectangle has a perimeter of 24 cm, find its length if its width
iIs 4 cm.

10 (B) | 20 - (€) 8 (D) 4

Example (4): - Complete as required

Swimming pool in the form of a rectangle 12 m long and 8 m
wide Calculate its circumference

_ Mr.FaridMousa Ll st ] 01032243340

A carpet in the shape of a square with a side length of 3 m. Find
its area

A carpenter wants to cover a table, so if its dimensions are 4m
by 6m, how many square meters of wood is needed to cover the
table?




Exam (unit five)

Example (1) Choose the correct answer

(1) Identity of multiplication is ........ccsiiuuee ._ ff
(A) | - | 1 | @ - D
(2) 3 times the number 9 is ........ aranes cessrranennans | |
(A) 3 (B) 9 (C) 27 (D) 39
(3) The value of the unknown A in the equation: 18 = A X 6is ......
(A) 24 (B) 16 (€) 168 (D) 3
(4) A45is equal to ...... nannannes . times the number 5 _, |
(A) 9 (B) 6 - (C) 5 (D) 40
(5) 3x4,000=3 X4 X .i0nirnrine 4 _' |
(A) | 10 (B) 100 (C) 1,000 (p) 10,000
(6) 500 = .......... arraan PP tens | | |
(A) 5 (B) 50 (C) 500 (p) 5,000
(7) Which of the following equations shows the commutative
| property of multiplication ? ..............
1x3=3 4x3=3x%X4 AxX(5x3) 0=0x4
(A)A ; (B) l l (C) . (4x5)x3= (D) 1
Example (2): - Complete
g X 12 =12 x 48
2 b0 equals 5 times the number......coorrmnnniss
c 3l O Xx5=6+6+6+6+6
A 3 X (2 X5) S cimnrmrersneresssessssesssssssenss
5 s =  7x4=M
6 e, =10 x5
7 10times the number 9 equals......c.civiiiiiiiniiinrnnnns
‘ g | — =6x5x4

" Mr . Farid Mousa Y » I 01032243340




(1) 0 X 35 = winrrsennsssmnssnnssssnsssannans

(A) 0 (B) 35 €© 350 (D) 305
7 7 7

(2) : .

The corresponding bar chart shows that the number ......... IS
~ equal to 3 times the number 7 | |
(A) 7 (B) 3 - (©) 21 (D) 49
(3) The number ............... is equal to 6 times the number 3
(A) 6 (B) 9 (C) 18 (D) 36
(4) The equation that expresses that a number is 10 times the
| ‘number 51iS......u00000000 |
(A) A=10+5 (B) A=10x5 (¢cy A=10-5 (p) 10=AXx5
(5) 2% 3 x4 = srrrenns—— . | |
(A) 12 (B) 30 (€) 24 (D) 5
(6) | LI [ECTITEITerE =A . 5xA=5x7
(A) 35 (B) 12 (C) 7 (D) 5
(7) (3 x6)x7=3x(6x7)Apropertyiscalled ........cooennrruns ‘
... commutation Identity of | Associative Multiplication
(A) property {B) multiplication (C) ~ property (D) by zero

Example (4): - Complete as required

Ayman ate 3 apples, and his brother ate 4 times what Ayman
ate. How many apples did his brother eat?

1

If the price of an electrical device is 400 pounds, what is the
price of 10 devices of the same type?

'Doaa bought 3 boxes of pens, each box contains 4 pens, so if
3 the price of one pen 5 pounds, what is the price of the pens
that Doaa bought?

_ Mr.Farid Mousa Ll o« ] 01032243340




Exam (unit six)

Example (1) Choose the correct answer

(1) The only even prime number.....c.cuoemmmmsnsmsmsansmnasnsnss

(A) 1 (B) 2 | {3 | 3 (D) 4
(2) (G CF ) for the number 8, 12 iS..ccceurerrsrersnns. -

(A) 2 (B) | 3 (©) 12 {a)] 3
(3) ‘The NUMDET ..vceieieeresennns is a factor of the number 63

(A) 2 (B) 5 () 7 (o 11
' (4) 'Which of the following numbers is a prime number?

(A) 1 (B) 50 (C) 14 (D) 11
' (5) ‘Which of the'following is a multiple of 9 ? R N

) 30 () 50 (¢ 18 (o) 6
' (6) ‘The common factor for all NUMbErS IS «ocovvneressessees

(A) 0 (B) 1 (©) | 2 (D) | 3
' (7) ‘A common multiple of 6 and 8 is the number.......c..cov100s
(A) 8 (B) | 6 - (€) 48 (0 40

Example (2): - Complete

1
2

=
. Multiples of 4 between 20 and 30 are......ccevererieinsnssararssssnnsnnns

4

The prime number immediately following the number 11 is ........ ‘

' The common factors of the numbers 4 and 16 are:....... = |

The prime number has ...cccccimiimnninmnssnnns factor

If 35 = 5 x 7, then the number............ is a multiple of the two

nNUMDbers ...oovessnss S

'The common multiple of 6 and 9 iS.....ccicvrinnssrinsnnnnnns

The numbers 20, 25, and 30 are multiples of a number........ccssuuus

' The number ............ is the greatest common factor (GCF) of the
'numbers 7 and 14

" Mr . Farid Mousa Y -+ I 01032243340




(1)

(A)

(2)

(A)

(3)

(A)

(4)

(A)

(5)

(A)

(6)
(A)

(7)

(A)

~The numbers 1, 2, 5, and 10 are factors of a number..v ................. :
| 5 (B) 25 - Q) 10 (D) | 2
A prime number whose sum of factors is 8 is............. TYTTTIITIITerY
7 (B) 5 (C) 13 (D) 11
Which of the following pairs has the same (GCF ) for the
'numbers 12 and 42.......... ?
9.6 (B) 27 . 8 (C) 60 .18 (D) 48 . 36
Which of the following is a prime number... | |
= (B) 6 (C) 10 (D) L
A factor of 63 is the number................ | |
6 (B) 7 (C) 8 (D) 10
Which of the following statements defines the
relationship between the numbers 5 and 25?7
isa 5 isa 5 factors 25 is5 5
multiple of (B) factorof (C) out of 5 (D) times 25
| 25 | | 25 | | | |
‘The common multiple of all numbers is...... weaaas
o (B) 1 (C) 2 (D) 3

Example (4): - Complete as required

_ Mr. Farid Mousa L8 s ] 01032243340

Find the common factors of the numbers 25 and 45

30

24 .8 .2
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Unit (4) Assessment |
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|
[1] Choose the correct answer:

(1) A square of side length S, its perimeter= ...
6O s+1 O sS4 ® Sx4 ¢ sxS
(2) If the perimeter of a rectangle 20 cm, its width 4 cm. Its length= ... cm
(a 1 O 5 ®@ 10 (d N3
(3) A rectangle of dimensions 20 cm and 10 cm, its area=............ cm’
© 10+20x2 (@ 10+20 @ 60 ® 200

(4) A rectangle whose length is L and width is W, itsarea= ...

O ex)+w @ Lxw ® L+wWx2 ¢ L+W

[2] Complete:

5m

(1) The area of the opposite rectangle= ... .. an’. ) 2m

(2) A rectangle of dimensions 20 cm and 10 cm,
its perimeter= ... .. cm. 3 cm

(3) The perimeter of the opposite square= ... cm.

[3] Find:

(1) Find the area and perimeter of the opposite figure:
................................................................................. 4 em
................................................................................. 4 em
................................................................................. 1 em
................................................................................. 2 Cm

12 cm
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Unit (5) Assessment |
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|
[1] Choose the correct answer:

(1) The multiplicative identity elementis .....................

O o O 1 O 2 © 3

(2) Which of the following represents the commutative property of multiplication?
© 5x16=(5x11)+(5x5) © 3x1=3
O 6x2)x4=6x(2x4) ©® 6x9=9x6

(3) 50x1,000=_ .. ... .

© 5,000 ® 500 ® 50,000 ® 50

(4) The numerical expression that represents: 3 times greater than 8 is 24 is ......... ..
®© 3x8=4 (@ 2x8=3 @ 8x8=24 (@ 3x24=8

(5) Ifax31=31x9,thena=........

6 40 O O 1 d X
6) 2x3)x4= ...
6 213 ® 6 O 2+3)x4 € 2x((3x4)
(7) 6 times greaterthan5= ... .. . . .
© 56 O 15 ® 30 ¢ 2
[2] Complete:
(1) 9 times greaterthan3= ... ... .
(2)35x0=......... andcalled ... property
(3)Ifk=7 x5,thenk=..........
@)5xTx2= ...
5)(5x3)xT=5x(...xT7)
[3] Find:

(1) Ahmed read 5 books. Mohamed read 3 times more than Ahmed. Find the
number of books that Mohamedread? ...
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Unit (6) Assessment |
- —

|
[1] Choose the correct answer:

(1) 17has ......... factor(s).

© 1 (b ) (C I d ;i
2 ... is a multiple of 9.

6O ® 36 ® 16 ¢ 6
(3) The smallest odd prime numberis ..........

© o (b2 O 2 (d I
(4) The common multiple of all numbersiis .........

© o (b3 (C I d I
(5) The common factor of all numbersiis ..........

© o (b3 (C I d I
6 ... is a composite number.

(2 (b ) (C I d j
(7) The GCF of the two numbers 18 and 24 is ..........

(2 J) b I ® 6 O n
[2] Complete:

(1) The smallest prime number s ..........
(2) The prime number that just after 7 is ..........

(3) ... is a multiple of 3, since 3 x ........ =12.

(4) The factorsof 8are: ......,......,....., ...

(5) ......... is a common multiple of the two numbers 2 and 8.
[3] Find:




